Replaced = A gain=/=

Fall= To be able to=/=
To get/ to have= Resulted=/=
Ability= Decrease=/=
Reduced= Native=/=

4/ Muatceh the situation with the type of unemployment

[

I he products are no more bought because they are old fashioned

2. They brought very developed machines to the factory; the machine can replace 5
employees. _

3. The north of the country i-s freezing this winter.. People are dyjng; they move to thu

4. Modern technological items are SOl Tk omabls prices; traditional forms of the
same product are no more bought.

5. Importing products from foreign countries which results in reducing the amount of
production and thus of employees.

6. A civil war in the eastern part of the country. People are moving from the east to the
west.

7. Hotels receive customers mainly in summer. In the other seasons; they reduce the
number of employees.

8. Tt is heavily snowing this winter which affected badly on agriculture.

9. The Chinese production is competing all the local productions around the word

Structural Frictional Seasonal Technological General




